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Ergebnisse Runden auf 2 Stellen.
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»     24x= 26 · 33 |:24 »     x = 
26 · 33
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»     33x= 35 · 26 |:33 »     x = 
35 · 26
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= 27,58 —
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»     16x= 18 · 4 |:16 »     x = 
18 · 4
----------------
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= 4,50 —
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»     10x= 22 · 31 |:10 »     x = 
22 · 31
----------------
   10

= 68,20 —
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»     34x= 14 · 16 |:34 »     x = 
14 · 16
----------------
   34

= 6,59 —
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»     25x= 8 · 22 |:25 »     x = 
8 · 22
----------------
   25

= 7,04 —
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»     2x = 5 · 26 |:2 »     x = 
5 · 26
----------------
   2

= 65,00 —
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»     3x = 20 · 24 |:3 »     x = 
20 · 24
----------------
   3

= 160,00 —
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